iCell BSS FCCID / IC Label
Part Number: 88191534GS Rev A1

KSTARSOLUTIONS”

iCell BSS, MACRO 1900MHz
Product Serial #

[ ]

FCCID: S52-5-02-01-00-1
1C: 8076A-50201001

Size: 1.20"x 1.60” (Square Corners)
Material: 5 mil Velvet Matte Lexan with 3M 468MP Transfer Adhesive
Flammability Class: UL HB75 is acceptable however UL 94V0 is preferred.

This part must be ROHS compliant.
¥ Die line does not print.
¥ White floods behind the entire piece

Please refer to Pantone” Color Specifier for exact colors.

flood
white



iCell BSS FCC PART 15 COMPLIANCE LABEL
Part Number: 88184459GS Rev AO

This device complies with Part 15 of the FCC rules. This Class A digital apparatus meets all

Operation is subject to the following two conditions: requirements of the Canadian Interference -

(1) This device may not cause harmful interference, Causing Equipment Regulations.

and

(2) This device must accept any interference Cet appreil numberique de la class A

received, including interference that may cause respecte toutes les exigences du Reglement

undesired operation. sur le materiel brouilleur du Canada.
88193085GS Rev A1

SIZE: 1.00"x 4.00" (SQUARE CORNERS)

MATERIAL: 5 mil VELVET MATTE LEXAN WITH 3M 468MP TRANSFER ADHESIVE
FLAMMABILITY CLASS: UL HB75 IS ACCEPTABLE HOWEVER UL 94VO0 IS PREFERRED

THIS PART MUST BE RoHS COMPLIANT

DIE LINE DOES NOT PRINT

WHITE FLOODS BEHIND THE ENTIRE PIECE

ALLTEXT IN PANTONE BLACK Please refer to Pantone” Color Specifier for exact colors.

flood
white



1 2 3 \/ 4 5

FILE NAME: | 24245143DWGS A4 |

SOMAEY|Svebe| INDEX| DESCRIPTION QTY| PART NO.
1 |iCELL SCPA SWITCH 1 |24243763GS
2 |PCB ASSY,SCPAPWR.SUPP. | 1 |29902857GS
3 |CABLE ASSY,POWER & ALARM| 1 |36481522GS
4 |CABLE ASSY,POWER 1 |36482294GS
5 |iCELL SCPA MECH. ASSY. 1 |41060540GS
6 |LABEL,FREQ. AND TYPE 1 |88191804GS
7 | FAN,24VDC,23 CFM 4 |NXX04700GS
8 |HEAT SINK 1 |73080094GS

NOTE DIRECTION OF
AIRFLOW ON FANS

DETAIL A
SCALE 1.500

@)

UNLESS OTHERWISE SPECIFIED |  S|GNATURES | DATE THIRD ANGLE PROJECTION % -

DINENSIONS ARE INMILLNETERS  ['c N | HC.B0S | 290an09 | D E-1- STARSOLUTIONS
FRONT VIEW-ISOMETRIC %Pl bEGMALS S DESIGNED | H.C.B0S | 29-Jan-09 | oEscrPTion

ANGLES + iCELL SCPA,MACRO 1900MHz,-48VDC ASSY DWG

SURFACE ROUGHNESS (Ra): 1.6um CHECKED ST} 1 SCALE ST

R e | PRROVED 24245143DWGS A |0.400

RAVALE S50 TO RS BEORMIN OGRS 0RFR. | MATERIAL APPLIED FINISH SHEET

T NTET (PO SRS, N/A N/A 10F 4

1 2 | 3 /N 4 5




FILE NAME: | 24245143DWGS A4 |

1 2 3 v 4 5
Somaer}sree| INDEX DESCRIPTION QTY| PART NO.
10 | THERMALLY CONDUCTIVE COMPOUND,RoH3mML| NXX07308GS
11 |M3X8 PAN HD. W/WASHER 14 | KXX00890GS A
12 |M4X16 PHIL.PAN HD. 4 | KXX00054GS
13 |WASHER,LOCK,SPRING,M4,SS,RoHS 4 |KXX01337GS
14 |WASHER,FLAT ,M4,SS,RoHS 4 |KXX01336GS
15 |M3X35 PHIL.PAN HD. 1 |KXX01340GS|
16 | WASHER,FLAT,M3,SS,RoHS 1 |KXX01334GS
17 |WASHER,LOCK,SPRING,M3,SS,RoHS 1 | KXX01335GS
18 | M3X13mm M/F STANDOFF 4 |KXX01449GS| B
19 |M3X20 PHIL.PAN HD. 4 | KXX00205GS
SCREW, SEMS, 4-40x.187 LONG,
20 INT TOOTH, RoHS 4 |KXX01243GS
LABEL, FCC, MACRO BSC, ACS,
21 | SCPA. 1900MHz, 0.5x4". RoHS 1188194459GS c
APPLY THERMAL COMPOUND <
BETWEEN SCPA AND HEAT SINK.
APPLY THERMAL COMPQOUND
BETWEEN POWER SUPPLY —
MODULE AND HEAT SINK.
D
UNLESS OTHERWISE SPECIFIED| SIGNATURES DATE THIRD ANGLE PROJECTION % -
DIVENSIONS ARE INMILLIMETERS o N | HC.B0S | 29Jan09 | O -1 STARSOLUTIONS
2 PL DECIMALS +
REAR VIEW-ISOMETRIC GLEs Ao DESIGNED | HC.BOS | 29-Jan09 | PE56R7E SCPAMACRO 1900MHz,-48VDC ASSY DWG E
SURFACE ROUGHNESS (Ra): 1.6um CHECKED ST} 1 SCALE ST
TSP G SR | JPPROVED 24245143DWGS A4 0400
VO Lty R RO 0Tkt oo, | MATERIAL APPLIED FINISH SHEET
et N/A N/A 20F 4
1 2 3 A 4 5



FILE NAME: | 24245143DWGS A4 |

SOMAEYLSHEHT |

@)

D

UNLESS OTHERWISE SPECIFIED |  S|GNATURES | DATE THIRD ANGLE PROJECTION % -
@@@ DVENSIONS ARE NWILINETERS 0N | HC.80S | 20dan0e | O -1 STARSOLUTIONS

2 PL DECIMALS +

+ DESIGNED | H.C.BOS | 29-Jan-09 | DESCRIPTION

GLEs Ao ICELL SCPAMACRO 1900MHz -48VDC ASSY DWG E

SURFACE ROUGHNESS (Ra): 1.6um CHECKED ST} 1 SCALE ST

LT U T §§§M7THTEEERV3EEHRTTJE°$OGNL§?%LNS”R APPROVED 24245143DWGS A4 10.400

VO Lty R RO 0Tkt oo, | MATERIAL APPLIED FINISH SHEET

et N/A N/A 30F 4

/\ 4 5



SOMAEYLSHEHT |

FILE NAME: | 24245143DWGS A4 |

TWIST PAIRS OF FAN WIRES TOGETHER

IN 10mm INCREMENTS.

%‘j —— j% A
. | [T | [T TX | ||©
———— e — — .. d q
@
BB ® b
@\ ® ® 3X6(BLK) ™
4 X2(RED) o : q
: e | T——TWIST 48V POWER WIRES TOGETHER
R I . o IN 20mm INCREMENTS. B
® @ ceeeen ® ®
® 4xt 3.X2 ) L
C
b
o | I <]
I SR
SCALE 0.400
12 4 D
o
UNLESS OTHERWISE SPECIFIED |  S|GNATURES | DATE THIRD ANGLE PROJECTION % -
DIVENSIONS ARE INMILWETERS "o N | HC.B0S | 20dan09 | —OF -1 STARSOLUTIONS
2 PL DECIMALS +
+ DESIGNED | H.C.BOS | 29-Jan-09 | DESCRIPTION
AGLEs s o ICELL SCPAMACRO 1900MHz -48VDC ASSY DWG E
SURFACE ROUGHNESS (Ra): 1.6um CHECKED TS 1 SCALE ST
;glLSU[%\R(‘)AA‘IAg%?éhﬁEYEf\lggSAl?BEMT\’T-lTEEF[’JRV%I?iRTT:EOCFO%LDO\TBQ)LNSTAR APPROVED 24245143DWGS A4 10.400
VO Lty R RO 0Tkt oo, | MATERIAL APPLIED FINISH SHEET
et N/A N/A 4 0OF 4
3 A 4 5



8 / 6 v 4 3 _ e _ 1
BILL 0OF MATERIAL
SOMNASYerverce
INDE X DESCRIPTION PART NO. QTY|REVREMARK
1 |DOrA BTS Module, Macro 3S 1900MHz, Assembly [242441835GS 1
2 [1U iBTS shell 41060312GS 1
3 [IRPC hoard asserbly, U BTS Rear I/0 Interface hoord|29901377GS 1
4 [IFPC board assembly, 1U BTS Front 1/ Interface board |29901378GS 1
S
6 |PCB Assenbly, Power Interface Boord Assembly |29901621GS 1
7 |iBTS GPS Backplane Board assenmbly. 29901429GS 1
8
S |CONN RF CIXIAL SMA-F/SMA-F ADAPTER PANEL MOUNT [HXX01965GS 9 Inmet
10 |CONN RF CIXIAL SA TYPE TERMINATION IC-25G 1VATT HXX01964GS 2
11 | ScrewPan HDPhillps with Spring and Flat ¥3X6,GBI0744 SHNRoHS [KXX00497GS 7
12
‘\‘ 13 |Screw (B818-82 M3x12MNN KXX0069GS 8
14 | @B6560-86 Tro-lokular thread form screw MAXI0 Bule zinc [KXX00943GS 8
15 |ScrewFlot HD,Phillips,M3X5,GB819,SS RoHS [KXX00191GS 6
16 |Screw HEX socket GB701-2000 M2.5X5 SS1M17 KXX00917GS 36
“w 17 6719 x 1/2" TRI-LOBULAR THREAD FORM SCREV, ZINC KXX00921GS 6
10 APPLY TO 1PPS IN INPUT. 18 |Screw,Phillips Pan HD G818-85 M2ax12 SSMMMM? [KXX00929GS o4
11 1S | LABELFREQUENCY AND TYPE (D0/1X) FIR ACS/SCPA/BTS FACEPLATE RS (88191804GS 1
GPS module, according as 20 |LABEL, I1X/DORA BTS FACEPLATE|88194457GS 1
(APPLY 1900MHz requirement configure. 21 |LABELFCC,MACRD,BSC,ACS,SCPA,1900MHz, SIZE RoHS (88194 459GS 1
19 DOrA LABELD
L0 R
Power supply ,according as requirement configure,
S
8
16
2l
APPLY DOrA LABEL
(TOP HALF OF LABEL>
2 15 1 14 7 18 \17
2l
MARK ECO NO REV DESCRIPTION ZONE |EDITED [DATE|APPD|DATE [REV
APPROVALS BY DATE | THS IRAVING AND DESIGN E THE PRIPERTY OF GLUBA. STAR
CONDITION THAT THEY ARt NOT 1o Bt Repmuce | @ == DX STARSOLUTIONS™
DRAWN Tavis OR COPIED; IN WHOLE OR IN PART, OR USED FIR
FURNISHING INFIRMATION 70 OTHERS [R FIR ANY [ DESCRIPTION:
ST TSRS SRS [ e
1. ALL CABLE CONNECTER STATUS AND FIGURE ,PLEAS REFER THE CABLE CONNECTER DRAWING. - ! -
2.SCRATCH OR COLLISION DAMAGES ALL ARE NOT ALLOWED. MFG Eu%%ggﬁag iCELL Drd w._.w_zpnm_”_ ng_._N_u%_. ww. 48VIC ASSY DVG
3.CLEAN ALL OIL OR POLLUTION BEFOR PACKAGED. X 05 DX 02 - IDENSINS A IN W (0] DWG NO. REV.| S1ZE:
CHECKED Agan 2025 D00l - SRACES RDIGHESS T ke B/ 24244240DWGS Ao | a3
MGES X Er = VIRKHANSHIP SHALL 3E THE REFERENCE DRAWING NO. SCALE:
APPROVED Kevin woes BEST COMERCTAL QUALTTY 0000-0000-0000 0.083
FINISH: MATERIAL: _ (mHMM._._ ”m_.__-mmm
8 5 X Z | 3 2 1




1 _ 2 3 4 | v 5 _ 6 _ _ 7 _ 8
INDEX DESCRIPTION MATERIAL |QTY PART NO. REV
SINAIrerere | |PCB Assembls Preselector Communications Assembly | 2990166 /GS
2 | ACS Power Distribution Cable 3 | 36481552GS
3 | ACS SNACRA)-Type N cable 1 36482206GS
(7 15 35 9 30 36 4 ACS mz>:~3-:€¢ N(RA) cable 1 36482207GS
] S | ACS SMA(RA)-Type N(PM) cable 2 | 36481555GS
38 (APPLY 1300NHz LABEL 6 | ACS High Power Tx Main RF cable | 3648150663
8 _ /. 7 |High Power TX Diversity RF Cable | 36481927GS
56 d A i 8 | ACS, Summer - Preselector, RF Ca 4 36481928GS
9 [ACS, LNA - Summer, RF Cable ? 36481930GS
. —0 |0 | ACS, Power and Alarm Cable, P4P | 36482060GS
Il JACS mechanical assembly RohS | 41060383GS
21 2o |2 |Preselector bracket 08 Fe T=1.6] | 80480366GS
(ix] |3 |Preselector bracket for SMA Pane 08 Fe T=1.6| | 80482710GS
|4 |Preseleclor brackel for blanhs 0o e | 1.6] 2 80482711GS
29 |.5 | CONN RF COAXIAL SMA TYPE TERMINATION DC-2.36 IWATI 4 HXX01964GS
16 [ conn rf coxial sma-f/sme-f adapter panel mount 6 HXX019635GS
12 == | 7 | CONN RF COAXTAL 50 OHM SMA-M/SMA-F ATTENUATOR 2W DC-26Hz 12d8 | 2 HXX02171GS
— 18 |50 ohm sma-m/sme-f attenvator length 21.8mm 2w de-26Hz 2048 2 | HXX02172GS
19 |screw gb3074.4-88 M3XS 6 | KXX00448GS
3 0 22 20 |[Nut,M3 Hex,GB6170,SS,RoHS 16 | KXX00209GS
21 [6B819-85 M3XI0 16 | KXX00669GS
22 | Screw, Phillips Pan HD, GB8IS-8 MK 2 KXX00684GS
N . L . 23 | NutHex M3 with Extemal Teeth Lock washer,SS,PS,RoHS [ 7 KXX01087GS
_ﬁ_ = ——— 24 | ScrewjFlat HD,Phillips,M4X8,6B819,55,RoHS 8 KXX00668GS
/I 25 |689074.4-88 M3XI6 2 KXX00918GS
SN 39 26 | GB6170-86 W2 18 | KXX00922GS
21 [6B8I9-85 M2XS 48 | KXX00924GS
28 | 6B819-85 M3X30 2 | KXX00925GS
29 [6B819-85 M3X60 3 | KXX00926GS
30 [6B819-85_M3X25 3 KXX01831GS
31 [ 20mm bare wire 4 LXX00501GS
32 | AWAY ADHESIVE BACKED MOUNT 5 NXX00106GS
33 | 20mm round nylon spacer 3 | NXX03630GS
34 | Power Supply isolated DC/DC 36-15Vin §.2V/12Vout TSN/ 50N _ PXX00349GS
35 [RE LNA 17V 1000 - 2400MHz 2 | QXX02370GS
36 | Filter RF Duplexer Tx 1930-1990MHz Rx1830-1910MH: 2 | QXX03139GS
3T |RF power splitter 4-Way Odegree 1850~1390MHz 2 | QXX03341GS
38 | LABELFREGUENCY AND TYPE (D0/IX) FIR ACS/SCPA/BTS FACEPLATERGHS 1 88191804GS
39 [ LABELL, FCC, NACRD BSC, ACS, SCP, 1900Mz, 054", RoS 1 88194459GS
= A
9 MARKIQTY| ECO NO. DESCRIPTION ZONE  [EDITEDDATE|APPD|DATE|REV
W APPROVALY BY |DATE]| THIS DRAVING AND DESIGN ARE THE PROPERTY OF GLOBAL STAR | PROJ: ™
N DRAWN]| _Ferg [ 05-Sep-] miar e 4 war o b revamuted  covem m whoe | - = %@E@@@F@j@%
M OR IN PART, OR USED FOR FURNISHING INFORMATION TO
i DESIGNED |  Feng | 05-Sep-07] OTHERS DR FIR ANY OTHER PURPOSE DETRIMENTAL TO THE DESCRIPTION:
— EDITED INTERESTS OF GLOBAL STAR SOLUTIONS ULC. iCELL ACSMACRO 2F 1900MHz FOR SCPA,-48VDC ASSY DWG|
m UNLESS OTHERWISE SPECIFIED TOLERANCES AS FOLLOWS DWG. NO. REV. | SIZE
= Note: MF G s e %/ 0OTS WG A 24242416DWGS  |AS| A3
] i i i -ALL TIENSIINS ARE IN M4 R L e REFERENCE DRAWING NO. REV. | SCALE
= | .me_MoF__dHom_mM“uv _v_\owmﬂm___ _Mﬂ”m ﬁﬂamﬁwwo_w i M__,A.u@ﬂna CHECKED n |05 Sep 07 DO NOT SCALE DRAWING 0000-0000-0000 0 117
2.Adhesive backed mount and resistor should be installed APPROVED|  Nart |05-Sep-07 [ronzses MATERIAL: WEIGHT: | SHEET
according to installation instruction document. SAFETY FIRST : 10F 2
1 _ a _ 3 4 ~ 0 _ 6 / _ 8




8 / &) ) v 4 3 | c | 1

BILL OF MATERIAL
SOHMA6LECT Y
INDEX DESCRIPTION PART NO QTY|REVREMARK
1 [BTS Module, Macro 3S 1900MHz 24242382GS 1
2 |BTS SHELL Mechanical Sub-Assy 41060312GS 1
3 [IRPC REAR INTERFACE PC BOARD 29901377GS 1
4 [IFPC FRONT INTERFACE PC BOARD 29901378GS 1
S |POWER INTERFACE BOARD 29901621GS 1
6
7 |GPS BACKPLANE BOARD 29901429GS 1
8
S |FLANGE MOUNT SMA -f/SMA-f HXX019635GS S Inmet
10 | CONN RF COXTAL SMA TYPE TERMINATION DC-2.0G IWATT|HXX01964GS Pad Inmet
11 | ScrenPon HDPhillps with Spring and Flat M3X6, X744 SHNLRHS | KXX00497GS 7
12
13 |(GBB18-85 PHMS M3X12 KXX00690GS 8
14 |GB6360-85 M4x10 SELF-THREAD SCREW KXX00943GS 8
135 |Screwflot HD,Phillips,M3X5,GB819,SSRoHS |KXX00191GS 6
16 |GB70.1-2000 HEX SOCKET SCREW M2.5x5 KXX00917GS 36
3 17 |6-19%1/2” TRI-LOBULAR THREAD FORM SCREW KXX00921GS 6
1 10 APPLY TO 1PPS IN 18 |GB818-85 PHMS M2.5XI2 KXX00929GS 24
2 INPUT 1S | LABELFREQUENCY AND TYPE (/) FIR ACS/SCPA/RTS FACEPLATERoHS | 88191804 GS 1
. 20 |LABEL, 1X/DORA BTS FACEPLATE|88194457GS 1
GPS hodule.according as 21 | LABEL,FCC MACRI,BSC,ACS,SCPA,1900MHz, SIZE RoHS| 88194 459GS 1
A”_.b_u_u_|< 1900MHz 1X LABEL> requirenen conrigure.
13
10
Power supply ,according as requirement configure.
S
16
20
APPLY 1X LABEL
(BOTTOM HALF OF LABEL>
4
11
2 o1 15 1 14 2 18 \17
NOTE:
1. ALL CABLE CONNECTER STATUS AND FIGURE ,PLEAS REFER THE CABLE CONNECTER DRAWING.
2.SCRATCH OR COLLISION DAMAGES ALL ARE NOT ALLOWED. MARK ECO NO. REV DESCRIPTION ZONE [EDITED [DATE|APPD|DATE |REV
3.CLEAN ALL DIL OR POLLUTION BEFOR PACKAGED.
APPRIVALS |  BY | DATE | SUTINS OLe. THEY ARE SUBMIITED WITH-THE. | s
CONDITIIN THAT THEY ARE NOT T0 BE REPRODUCED @m %@ﬁ%@@F@j@ZmE
DRAWN Tavis OR COPIED; IN WHOLE OR IN PART, OR USED FOR
FURNISHING INFORMATION 70 OTHERS OR FOR ANY  [DESCRIPTION:
DESIGN OTHER PURPOSE DETRIMENTAL TO THEINTERESTS OF
GLOBAL STAR SOLUTIONS ULC.
MFG NLESS (THERVISE SPECIIED TOLERANGES 45 FILLIVS CELL X BTSNACRT 1900Nz /GPS RECEIVER JUAL PS.-46VIC ASSY VG
X »ME%&».E - DIMENSIONS ARE IN MM [INCHI DWG NO. REV.| SIZE:
CHECKED Agan X tls DXan - SRFAES RUGAESS 10 3/ 24242379DWGS A0 | A3
MGES X 2P - WIRKMNSHIP SHALL BE THE REFERENCE DRAWING NO. SCALE:
APPROVED | Kevin e JEST COMERIA. Y 0000-0000-0000 0.083
FINISH: MATERIAL: _ (mHmm._._ umﬁm.mm

8 7 6 5 & 4 _ 3 2 il




0N OA WN =

PLACE FCC LABEL ON MOUNTING
RAIL ROTATED VERTICALLY

/
47/ —
% A
o o | EEEEEEEEEEE | EEEEEEEEEET o P
1U

0 =) e |
| /= =——— |

= I
[ |
1U
1U
[
S0 8o mm  cocoa
mgﬂ ga cooooo
[ ]
o ©| [ m m m m m |®p
119 (o) (o) s
09§D 23§D 23§D Solerp
°GODZ§OD§§OD§§G°
s lodloojodlocojod|oo o
de| 2 |OoO| ® |O0O| ® |OO|ep
1U
o © | [ m m S |
4 |o OD o -
qe |8 g g e |
el kDD
OOON OON OON °
J e e
3uU
e o b
o © e |
q 4U o
s o b
1U
1U
T | B
FRONT

RNC
BSC
SWITCH

DOrA BTS
1XBTS

RFS1

RFS2

W ~NOOOAWN =

[
w20 ©

-
>

ACM2

BABA DWW WWWWWWWWNDNNRNDNNDDNDRNDNDDND=2 2 a2
N =20 00N RWN=20©C0ONOODUORPRWN=20O©®~NO

REAR

iCell 1X + DOrA BSS, Macro 2F/3S 1900MHz, with SCPA, BSC, IP Switch, ACM2, Dual Feed, -48VDC dwg

12231448DWGS

A1




	24245143dwgs_a4.pdf
	Sheet 1
	Views
	main_view
	A

	Zones
	F1
	F2
	F3
	F4
	F5
	F6
	E1
	E2
	E3
	E4
	E5
	E6
	D1
	D2
	D3
	D4
	D5
	D6
	C1
	C2
	C3
	C4
	C5
	C6
	B1
	B2
	B3
	B4
	B5
	B6
	A1
	A2
	A3
	A4
	A5
	A6


	Sheet 2
	Views
	new_view_4

	Zones
	F1
	F2
	F3
	F4
	F5
	F6
	E1
	E2
	E3
	E4
	E5
	E6
	D1
	D2
	D3
	D4
	D5
	D6
	C1
	C2
	C3
	C4
	C5
	C6
	B1
	B2
	B3
	B4
	B5
	B6
	A1
	A2
	A3
	A4
	A5
	A6


	Sheet 3
	Views
	new_view_16

	Zones
	F1
	F2
	F3
	F4
	F5
	F6
	E1
	E2
	E3
	E4
	E5
	E6
	D1
	D2
	D3
	D4
	D5
	D6
	C1
	C2
	C3
	C4
	C5
	C6
	B1
	B2
	B3
	B4
	B5
	B6
	A1
	A2
	A3
	A4
	A5
	A6


	Sheet 4
	Views
	main_view

	Zones
	F1
	F2
	F3
	F4
	F5
	F6
	E1
	E2
	E3
	E4
	E5
	E6
	D1
	D2
	D3
	D4
	D5
	D6
	C1
	C2
	C3
	C4
	C5
	C6
	B1
	B2
	B3
	B4
	B5
	B6
	A1
	A2
	A3
	A4
	A5
	A6






